nil= (% This notebook computes the data used for the two plots
that ended up in the final version of the paper JHEP 01, (2022) 192.

I am letting r = x/H )

n2i= Vetilde = ((x-xc) / (xc-xb)) %
((Xx+xc+xb) / (xc+2%xxb))*(xb/ (2xxc)) » (xb/x) " (xb=* (2=*xc+xb) /2)

xb
X+Xb+Xxc ) 2 xc

xb —i xb (xb+2 xc)
%)

(X - XC) (
2 xb+xc

Out[2]= b
- XD + XC

nzk= Ubtilde = - ((X-xb) / (xc-xb)) =
((x+xc+xb) / (2*xc+xb))”(xc/ (2xxb)) » (xc/Xx) " (XC* (XC+2=*Xxb) /2)

1 X
(X B Xb) (LC ) 5 X (2 xb+xc) x+xb+xc \ 5y
xb+2 xc

Out[3]l= — b
- Xb + XC

n4:= DelUbtilde = (Ubtilde /. {x -» x1}) - (Ubtilde /. {x - x2})

xc xc

1 xc 1 xe
(x1 - xb) (£>Exc (2 xb+xc) (x1+xb+xc) 2xb (x2 - xb) <£>EXC (2 xb+xc) (x2+xb+xc) 2%b
x1 xb+2 xc X2 xb+2 xc
Out[4]= - +

-xb + xc -xb + xc

nis- DelVctilde = (Vctilde /. {x -» x1}) - (Vctilde /. {x -» x2})

! xb (xb+2 xc) > X xb (xb+2 xc) o

b3 1+xb b3 2+xb

(—zl)z (x1 - xc) (7)(2;); ”“)“C (—X )2 (X2 - xC) (7’( X ”C)“C
+XC X2 2 xb+xc

Out[5]= -

-Xxb + xc -xb + xc

nel= (% Gbar (x1,x2) =
2 pi G(x1,x2) - T(kappa_b+kappa_c) + Log[omega_©0"2/ (kappa_bxkappa_c)] + 2+gamma_E =)

n7- Gbar = - Log[Abs[DelUbtilde % DelVctilde]]

1 xb 1 xb
b\ - Xb (xb+2xc) 1:xb — b\ s Xb (xb+2xc) 2:xb -—
(x )2 (x1 - xc) (x X +xc)2xc (x )2 (X2 - xc) (x +X| +xc)2xc
x1 2 xb+xc x2 2 xb+xc

out7]=  —Log [Abs [ _
-xb + xc -xb + xc

xC xcC

(x1 - xb) (ﬁ)%xc (2 xb+xc) (x1+xb+xc)§, (x2 - xb) (§>§xc (2 xb+xc) (x2+xl:)+xc)§7
x1 xb+2 xc x2 xb+2 xc } ]
- +

-Xb + xc -xb + xc

nigl= (* Now solve for xc in terms of xb using the identity xb”2 + xbxxc + xc”2 = 1 x)
nol= A = xb”"2 + xb*xxc+xc”r2-1

ougl- -1 + xb? + xb xc + xc?
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nno= sol = Solve[A == @, Xc]

out[10]=

{{xe o (-x0- =302 | |, fxc o (-xo- a-3x07 ) ]

n111= Xcc = Part[sol, 2, 1, 2]

Out[11]=

NP

(3o~ 307

nn2= Plot[xcec, {xb, 0, 1}]

out[12]=
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nn3= Gbar = Gbar /. {xc - xcc}

out[13]=

~Log [Abs | - L S =T RE Sy B )
,xb+%(—xb+JZj;;¥)
xb s A4 3x0? 3 (X0 Va-3%07 | (2x0+) (-xbs Va3 %07 )|
(x1 - xb)
x1

xbmjasxbz
x1+xb+%<—xb+ 4—3xb2) dxb

A4 - 3 xb?

1
—xb+% (—xb+ \/4—3xb2)

b m (-xb+a-3xb7 | (2xb+] -xbs V/4-3x07 ) |

X2

2 % (—xb+ V4-3 sz) (2 xb% (—xb+ w,l473xb2))

(X2 - xb)

E

xb+ Y4-3 xb?

~xb\a-3x0 )| o
V4 - 3 xb?

1
x2+xb+5

xb

14 1 (Xb ~ 4_3 sz ) ) x1+xb+% (—xb+ A4-3 xb2> xbs A3 xb7
2 2 xb+% (—xb+ A/4-3 xb? )

—Xb+§ (—Xb+ \/4—3Xb2>

(@)%Xb /4-3 xb? (X

x1

xb
(Lb ) % xb /4-3 xb? (XZ . 1 (Xb _Ja_3 sz ) ) X2+xb+§ (—xb+ Va-3 sz) e a3 07
x2 2 2xb+—i (—xb+ 4-3 xb? )

—xb+% (—xb+ \/4—3xb2)

J

ni4=  (* Now locate the cosmological horizon for various values of xb. *)

5= Xexbpl = N[xcc /. {xb-»1/10}]
Out[15]=
0.946243
nfel= Xcxbp2 = N[xcc /. {xb > 2/10}]
Out[16)=

0.884886
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7= xXexbp3 = N[xcc /. {xb > 3/10}]
out[17]=
0.81566

infgl= Xcxbpd = N[xcc /. {xb > 4/10}]
Out[18]=

0.738083

o= Xecxbp5 = N[xcc /. {xb > 5/10}]

out[19]=

0.651388

The following is the plot used in Fig. 1.

neoi= pl = DensityPlot[Gbar /. {xb -» 2 /10, xc » xcxbp2}, {x1, 1/100, 2}, {x2, 1/ 100, 2},
PlotLegends - Automatic, Frame - True, FrameLabel -» {H Subscript[r, 1], HSubscript[r, 2]}]

Out[20]=
2.0

1.5

0.5

n211= (* Now I'1ll put in the velocity correlation function plot. =)
n22l= (% So xb goes from @ to 1/Sqrt[3] and xc then goes from 1 to 1/Sqrt[3] «)

ne23i= Xstar = Log[Abs[x -xb] / (xc-xb)] / (2 +kapb) -
Log[Abs[x - xc] / (xc-xb)] / (2 *kapc) + Log[ (x+xb+xc) / (xc+2x%xb)] / (2xkapN) -
(xc / (4 % xb x kapb)) * Log[ (2 *xc+xb) / (xc+2xxb)] - (xbxxc/ (2 (xc-xb))) = Log[xb /xc]

Out[23]=
X+Xb+XxC xb+2xc}

Abs[x—xb]]
2 xb+xc

Abs[x—xc]]
-xb+xc

-xb+xc

Log[
2 (-xb + xc) 2 kapN 4 kapb xb 2 kapb 2 kapc

] XC Log [ Log [

2 xb+xc

xb xc Log[i—:] Log[
+




In[24]:=

Out[24]=

In[25]:=

In[26]:=

out[26]=

In[27]:=

out[27]=

In[28]:=

Out[28]=

In[29]:=

Out[29]=

In[30]:=

out[30]=

In[31]:=

Oout[31]=
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h = Log[Abs[x - xb] / (xc -xb)] / (2 » kapb) + Log[Abs[x -xc] / (xc-xb)] / (2 = kapc) +

(1/2) » (xc/ (xb*kapb) -1/ kapN) » Log[ (x+Xxb+xc) / (xc+2%xb)] -

(xb*xc/ (2% (xc-xb))) xLog[x*2/ (xbxxc)] +
(xc / (4% (xbxkapb))) *Log[ (xc +2*xb) / (2% xc +xb)]

2
xb xc Log[X:XJ 1 1 XC X + Xb + Xxc
- + — (— + Log{i} +
2 (-xb +xc) 2 kapN kapb xb 2 xb + xc
2 xb+xc Abs [x-xb] Abs [x-xc]
xc LOg [ xb+2 xc ] LOg { -xb+xc } Log { -xb+xc }
+ +
4 kapb xb 2 kapb 2 kapc
(» Let's check these. «)
u = Expand[T - h - xstar]
x? xb
. xbxcLog[m} xbxcLog[;}
+ + -
2 (-xb + xc) 2 (-xb +xc)
xc Log [ x+xb+xc ] xc Log { 2 xb+xc ] xc Log [ xb+2 xc } Log { Abs [x-Xxb] }
2 xb+xc xb+2 xc 2 xb+xc -xb+xc
2 kapb xb 4 kapb xb 4 kapb xb kapb
v = Expand[T - h + xstar]
x? xb x+Xb+xc
. xb xc Log[ﬁ} xb xc Log[;} Log[iszﬁ(c J
+ - + -
2 (-xb + xc) 2 (-xb +xc) kapN
X+Xb+Xxc 2 xb+xc xb+2 xc Abs [x-xc]
xc Log[ 2 xb+xc ] B xc Log [ xb+2 xc] B xc Log [ 2xb+xc} _ Log{ -xb+xc }
2 kapb xb 4 kapb xb 4 kapb xb kapc
uHc = Expand[u /. {X - xc}]
xb xc Log[x—b} xb xc Lo [5} XC Log[i2 xbxc ] XC Log[ixmzxc] Abs [-Xb+xc] ]
T xC g xb xb+2 xc 2 xb+xc -Xb+xc
+ + - -
2 (-xb +xc) 2 (-xb +xc) 4 kapb xb 4 kapb xb

Assuming[xc > xb > @, FullSimplify[uHc]]

vHb = Expand[v /. {X » xb}]

2 xb+xc xb+2 xc Abs [xb-xc]
T Xc LOg [ xb+2 xc ] xc LOg { 2 xb+xc ] LOg[ -xb+xc ]
4 kapb xb 4 kapb xb kapc

Assuming[xc > xb > @, FullSimplify[vHb]]

T
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ns2=  kapb = (xc -xb) % (xc +2 % xb) / (2 % xb)
out[32]=
(-xb +xc) (2xb +xc)

2 xb

nizsl=  kapc = (xc -xb) % (2 % xc +xb) / (2 % xc)
Out[33]=
(-xb +xc) (xb+2xc)

2 XC

nsal=  kapN = (2 % xc +xb) * (Xc +2 % xb) / (2% (xc +xb))

Out[34]=
(2xb +xc) (xb+2xc)

2 (xb + xc)

ni3sl=  (* Now solve for xc in terms of xb using the identity xb”2 + xbxxc + xc”2 = 1 %)

nEel= A = xb”"2 + Xxbxxc+xc”r2-1
Out[36]=

-1+ xb? + xb xc + xc?

n37= sol = Solve[A == @, Xxc]
out[37]=
{{xe s (-xo- =30l |, fxc o~ (-xo- a-3x0 ) ]
nssl= Xcc = Part[sol, 2, 1, 2]

Out[38]=

E (—xb+ \/4—3xb2)

nsor=  Plot[xcc, {xb, @, 1}]

out[39]=

1 n n n 1 n n n 1 n n n 1

0.2 0.4 0.6 0.8 1.0

n4ol= N[1/Sqrt[3]]
Out[40]=

0.57735
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ni411= N[xcc /. {xb>1/Sqrt[3]}]
Out[41]=

0.57735

ni421=  (* So xb goes from © to 1/sqrt[3] and xc goes from 1 to 1/sqrt[3] =*)

mn43= ul = u /. {X->x1}

Out[43]=
x12 xb x1+xb+xc
T+xbxc Log[m} xb xc Log[;} XC Log[ > Ybixc }
+ _ _
2 (-xb + xc) 2 (-xb +xc) (-xb +xc) (2xb +xc)
2 xb+xc xb+2 xc Abs [x1-xb]
xc Log[xb+2 xc} xc LOg[beerc] 2xb LOg{ -xb+xc }
+ _
2 (-xb+xc) (2xb+xc) 2 (-xb+xc) (2xb+xc) (-xb +xc) (2xb+xc)
n44= U2 = u /. {X-> x2}
Out[44]=
x22 xb x2+xb+XcC
T+xbxc Log[m} xb xc Log[;} XC Log[izxmxC }
+ _ _
2 (-xb + xc) 2 (-xb +xc) (-xb +xc) (2xb +xc)
2 xb+xc xb+2 xc Abs [x2-xb]
Xc Log[xb+2xc} Xc Log[2xb+xc] 2xb Log{ -xb+xc }
2 (-xb+xc) (2xb+xc) 2 (-xb+xc) (2xb+xc) (-xb + xc) (2xb +xc)
niasl= vl = v /. {X > x1}
Out[45]=
x12 xb Xx1+xb+xc x1+xb+xc
.. xb xc Log[m} xb xc Log[;} XC Log[ > Xbixc } 2 (xb + xc) Log{iszﬂ(c ]
_ _ + _
2 (-xb + xc) 2 (-xb +xc) (-xb +xc) (2xb +xc) (2xb +xc) (xb+2xc)
2 xb+xc xb+2 xc Abs [x1-xc]
xc Log[xb+2 xc} xc LOg[be+xc] 2xc Log{ -xb+xc }
2 (-xb+xc) (2xb+xc) 2 (-xb+xc) (2xb+xc) (-xb +xc) (xb+2xc)
nfel= V2 = Vv /. {X > x2}
Out[46]=
x2?2 xb x2+Xb+xc x2+Xb+Xxc
- xb xc Log[m} xb xc Log[;} XC Log[ > Xbixc } 2 (xb + xc) Log{iszﬂ(c ]
_ _ + _
2 (-xb + xc) 2 (-xb +xc) (-xb +xc) (2xb +xc) (2xb +xc) (xb+2xc)
2 xb+xc xb+2 xc Abs [x2-xc]
xc LOg [ xb+2 xc} xc LOg [ 2xb+xc] 2xc LOg{ -xb+xc }
2 (-xb+xc) (2xb+xc) 2 (-xb+xc) (2xb+xc) (-xb +xc) (xb+2xc)

n471= (% Every quantity depends on either u2 - ul or v2 -
vl and once the derivatives are computed we set T2 = T1 = T so
the T dependence goes away. Further they are symmetric in u2-ul or v2-vi. *)
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In[48]:=

out[48]=

In[49]:=

Out[49]=

In[50]:=

In[51]:=

Out[51]=

In[52]:=

In[53]:=

Out[53]=

In[54]:=

Delu = u2-ul

xb xc Log[ Xz’ } xb xc Log{ x2° ] XC Log{w]
+ +

xb xc xb xc 2 xb+xc

2 (-xb +xc) 2 (-xb + xc) (-xb +xc) (2xb +xc)

xc Log | X200xc | 2xb Log [ AEL4201 | 5 x| gg [ A5 xbl |
2 xb+xc -xb+xc _xb+xc

(-xb +xc) (2xb+xc) : (-xb +xc) (2xb+xc) ) (-xb +xc) (2xb+xc)

Delv = v2 - vl

x12 x22 x1+xb+XC x1+xb+xc
xb xc Log[m} xb xc Log{xbxc] XC Log{ P ] 2 (xb + xc) Log[izxmC }
_ n i _ _
2 (-xb + xc) 2 (-xb + xc) (-xb + xc) (2 xb +xc) (2 xb +xc) (xb+2xc)
e Log[ 220 |  2 (xboxe) Lo 0| 2ncog[ M| axetog* |
+ + -
(-xb +xc) (2xb+xc) (2xb +xc) (xb+2xc) (-xb +xc) (xb+2xc) (-xb +xc) (xb+2xc)

(* Now I'll compute the parts of \partial_T \partial T' G
that depend on Delu and Delv separately. 1I'll use 1t for less than
in the names and gt for greater than. 1I'll start with @ < x1 < x2 < xb %)

GTTUbxxxb =
Assuming[{x1 > @, x2 > 9, xb > 0}, Simplify[-kapb”2 / (8 = Pi » Sinh[kapb x» Delu / 2] *2)]]

1 2 2
-— (xb-xc)“ (2 xb +xc)
32 71 xb?
1 x1 + xb + xc
Csch[— -Xb xc (2xb +xc) Log[x1] + xbxc (2 xb +xc) Log[x2] + Xc Log[i} -
4 xb 2 xb + xc
X2 + xb + xc 2
xc Log[i +2xb Log[Abs [x1 - xb]] - 2 xb Log [Abs [x2 - xb] })]

2 xb + xc

(* This is for one point less than xb and the other greater than xb. x)

GTTUbxxbx =
Assuming[{x1 > @, x2 > 9, xb > 0} , Simplify[kapb~2 / (8 x Pi » Cosh[kapb x» Delu / 2] *2)]]

1 2 2
——— (xb-xc)“ (2 xb + xc)
32 7t xb?
1 x1 + xb + xc
Sech[— -xbxc (2xb +xc) Log[x1] + xbxc (2 xb+xc) Log[x2] + Xc Log[i] -
4 xb 2 xb + xc
X2 + Xb + xc 2
XC Log{i +2xb Log[Abs [x1 - xb]] -2 xb Log[Abs[x2 - xb]] ]}

2 xb + xc

(* This is for both points greater than xb. x)
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nissl=  GTTUbxbxx =
Assuming[{x1 > @, x2 > 9, xb > 0} , Simplify[-kapb”2 / (8 » Pi x Sinh[kapb * Delu / 2] "2)]]

Out[55]=

1
- (xb-xc)? (2xb +xc)?
32 71 xb?
1 x1 + xb + xc
Csch[ -xb xc (2xb +xc) Log[x1] + xbxc (2 xb +xc) Log[x2] + Xc Log[i} -
4 xb 2 xb + xc
X2 + Xb + XC 2
XC Log[i +2xb Log[Abs[x1-xb]] -2xb Log[Abs[xeb]]]]
2 xb + xc

nisel= (% This is for both points less than xc. =x)

in[s7:= GTTVCXXXC =

Assuming[{x1 > @, x2 > @, xc > 0}, Simplify[-kapc”~2/ (8 = Pi » Sinh[kapc » Delv / 2]1"2)]]

Out[57]=
1 2 2
- — (xb-xc)“ (xb + 2 xc)
32 71 xc?
1 x1 + xb + xc
Csch[ -Xxb xc (xb +2xc) Log[x1] + xbxc (xb+2xc) Log[x2] +xb Log[i} -
4 xc 2 xb + xc
X2 + xb + xc 2
xb Log[i +2xc Log[Abs[x1 - xc]] - 2xc Log[Abs [x2 - xc]] )]

2 xb + xc

This is the component used for Figure 2.

nisel= (% This is for one point less than and one point greater than xc. )
in[s91= GTTVCXXCX =

Assuming[{x1 > @, x2 > @, xc > 0}, Simplify[kapc”~2/ (8 » Pi x Cosh[kapc * Delv /2]"2)]]
Out[59]=

2 xb + xc

1 2 2
(xb - xc)“ (xb + 2 xc)
32 7t xc?
1 x1 + xb + xc
Sech{— “xb xc (xb+2xc) Log[x1] + xbxc (xb+2xc) Log[x2] + xb Log{i] -
4 xc 2 xb + xc
X2 + Xb + xc 2
xb Log{i +2xc Log[Abs [x1 - xc]] -2 Xxc Log[Abs[xec}]N

nieol= (% This is for both points greater than xc. x)
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In[61]:=

Out[61]=

In[62]:=

In[63]:=

Out[63]=

In[64]:=

Out[64]=

In[65]:=

Out[65]=

In[66]:=

out[66]=

In[67]:=

Out[67]=

In[68]:=

Out[68]=

In[69]:=

Out[69]=

In[70]:=

out[70]=

In[71]:=

Out[71]=

GTTVexexx =
Assuming[{x1 > @, x2 > @, xc > 0}, Simplify[-kapc”~2/ (8 = Pi » Sinh[kapc » Delv / 2]172)]]

2 xb + xc

1 2 2
-— (xb-xc)“ (xb + 2 xc)
32 7t xc?
1 x1 + xb + xc
Csch[— -xb xc (xb+2xc) Log[x1] + xbxc (xb+2xc) Log[x2] +xb Log[i} -
4 xc 2 xb + xc
X2 + xb + xc 2
xb Log[i +2xc Log [Abs [x1 - xc] ] - 2 xc Log [Abs [x2 - xc] })]

(* Now locate the cosmological horizon for various values of xb. x)

xcxbpl = N[xcc /. {xb—>1/10}]
0.946243

xbdivxcpl 1/ (10 » xcxbpl)

0.105681

xcdivxbpl = 1/ xbdivxcpl
9.46243

xcxbplpl N[xcc /. {xb > 11/ 100}]

0.940452

xcxbplp2 N[xcc /. {xb > 12 /100}]

0.934585

xbdivxcplp2 = 12/ (100 * xcxbplp2)

0.128399

xcdivxbplp2 1 / xbdivxcplp2
7.78821

xcxbplp5 = N[xcc /. {xb > 15/ 100}]
0.916527

xcxbp2 = N[xcc /. {xb > 2/10}]

0.884886
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ni721=  Xbdivxcp2 2/ (10 » xcxbp2)
out[72]=
0.226018

ni73}=  Xcdivxbp2 1 / xbdivxcp2

Out[73]=

4.42443
in[74}=  XcxXbp3 = N[xcc /. {xb > 3/10}]
Out[74]=

0.81566

ni7sl=  xbdivxcp3

3/ (10 * xcxbp3)
Out[75]=
0.3678

ni7el= xcdivxbp3 = 1 / xbdivxcp3

Out[76]=

2.71887

n771= Xcxbpd = N[xcc /. {xb > 4/10}]
Oout[77]=

0.738083

ni7el- Xbdivxcp4 = 4/ (10 * xcxbp4)

Out[78]=

0.541944

n79}= Xxcdivxbp4 = 1/ xbdivxcp4

out[79]=

1.84521
iniso}= Xcxbp5 = N[xcc /. {xb > 5/10}]
Out[80]=

0.651388

nig1l=  Xbdivxcp5

5/ (10 % xcxbp5)
Oout[81]=
0.767592

nis2l=  Xcdivxbp5 = 1/ xbdivxcp5

out[82]=

1.30278

ns3l=  (* If one point is on xb then GTTUb =
@ so long as the other point is elsewhere so I just need to plot GTTVc. Also in order
to plot more than one value of xb on the same plot I will change variables to x =
xcxy so that y = 1 is always the location of the cosmological horizon. The
reason for this is that I get a peak
when the other point is outside the cosmological horizon. *)
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ing4=  GTTVexxxcy = GTTVexxxc /. {x1 -» Xc *yl, X2 » Xc % y2}
Out[84]=
1 2 2
-— (xb-xc)“ (xb + 2 xc)
32 7t xc?

1
Csch [E

xb + xc + xc y1
-xb xc (xb+2xc) Log[xcyl] +xbLog| ——— | + xbxc (xb+2xc) Log[xcy2] -
2 xb + xc

Xxb + XC + XC y2 2

xb Log[ +2xc Log[Abs[-xc +xcyl]] - 2xc Log[Abs[-xc +xcy2]]

2 xb + xc

inigsl=  GTTVexxexy = GTTVexxex /. {X1 -» Xc *yl, X2 » Xc % y2}

out[8s]=

1 2 2
—— (xb - xc)“ (xb + 2 xc)
32 7t xc?
xb + xc + xcyl
Sech[ -xb xc (xb+2xc) Log[xcyl] + xbLog| —— | + xbxc (xb+ 2 xc) Log[xcy2] -
4 xc 2 xb + xc
xb + XC + XC y2 2
xbLog[— +2xc Log[Abs[-xc + xcyl]] - 2Xxc Log[Abs[—xc+xcy21]]]
2 xb + xc

nsel=  (* I'1ll reproduce pl here so both the plots are at the end. x)

ing71=  pl

out[87]=

This is the second plot for the published version of the paper. However, that actual plot was produced
by a different program from the data that is computed below. The original plot was labeled p7.
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nssl= p2 = LogPlot[{ (GTTUbxbxx /. {xb -» 1/ 10, xc » xcxbpl, x1 -» 0.9 % xcxbpl}) +
(GTTVexxex /. {xb > 1/ 10, xc -» xcxbpl, x1 -» 0.9 » xcxbpl}),
(GTTUbxbxx /. {xb -» 1/ 10, xc » xcxbpl, x1 » 0.95 * xcxbpl}) +
(GTTVexxex /. {xb - 1/ 10, xc -» xcxbpl, x1 -» 0.95 % xcxbpl}),
(GTTUbxbxx /. {xb -» 1/ 10, xc » xcxbpl, x1 » 0.98 * xcxbpl}) +
(GTTVexxcx /. {xb » 1 /10, xc » xcxbpl, x1 » 0.98 » xcxbpl}),
(GTTUbxbxx /. {xb » 1/ 10, xc » xcxbpl, x1 » 0.99 » xcxbpl}) +
(GTTVcxxex /. {xb - 1/ 10, xc -» xcxbpl, x1 -» 0.99 = xcxbpl})}, {x2, xcxbpl, 30},
PlotRange » {10~ (-5), 2% 10~ (-3)}, Frame -» True, FramelLabel - Subscript([x, 2]]

Out[88]=

0.001 ]

5.x 107

1.x107* ¢ ]

5.x105

1.x107% H————

X2

nsol= (% This is the data that I used for the plot in
Fig. 2 of the paper. The file is called Fig_p7.png. =)

npol= T7 = Table[
{N[i/200], N[ (GTTUbxbxx /. {xb » 1/ 10, xc - xcxbpl, x1 - 0.9 » xcxbpl, x2 -» i / 200}) +

(GTTVexxex /. {xb - 1/ 10, xc -» xcxbpl, x1 -» 0.9 x xcxbpl, x2 - i/200})],

N[ (GTTUbxbxx /. {xb - 1/ 10, xc - xcxbpl, x1 - 0.95 » xcxbpl, x2 -» i/ 200}) +
(GTTVexxex /. {xb » 1 /10, xc -» xcxbpl, x1 - 0.95 » xcxbpl, x2 - i/ 200})1],

N[ (GTTUbxbxx /. {xb - 1/ 10, xc - xcxbpl, x1 - 0.98 x xcxbpl, x2 - i/ 200}) +
(GTTVexxex /. {xb » 1 /10, xc -» xcxbpl, x1 - 0.98 » xcxbpl, x2 - i/ 200})],

N[ (GTTUbxbxx /. {xb - 1/ 10, xc - xcxbpl, x1 - 0.99 x xcxbpl, x2 - i/ 200}) +
(GTTVexxex /. {xb » 1/ 10, xc -» xcxbpl, x1 -» 0.99 * xcxbpl, x2 - i/200})]}, {i, 6000}];

no1}= (% Export["C:\\Users\\anderson\\Tex\\Research - Current\\BH in
Cosmology\\2D Stress Tensor\\Numerical_data_for_plots\\Plot7.dat",T7] =)



